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	Distance A
	[bookmark: OLE_LINK23][bookmark: OLE_LINK24][bookmark: OLE_LINK26][bookmark: OLE_LINK25]y = 0.2599 × GA + 0.3781 (R2 = 0.8320, P < 0.0001)
	y = 0.2494 × GA + 0.8284 (R2 = 0.7854, P < 0.0001)
	[bookmark: OLE_LINK30][bookmark: OLE_LINK27]y = 0.2000 × GA + 1.2890 (R2 = 0.7444, P < 0.0001)
	[bookmark: OLE_LINK85][bookmark: OLE_LINK84]y = 0.2056 × GA + 1.1510 (R2 = 0.7462, P < 0.0001)

	Distance B
	y = 0.1342 × GA + 0.2327 (R2 = 0.6200, P < 0.0001)
	y = 0.1313 × GA + 0.3521 (R2 = 0.6480, P < 0.0001)
	y = 0.0762 × GA + 0.8387 (R2 = 0.3614, P = 0.0003)
	y = 0.0665 × GA + 1.1320 (R2 = 0.3607, P = 0.0003)
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